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optlph 7-nn. hnnJwény pjntobuinwhl Swiuubph gnpéwrtwywl nwuwlwnpgiwb 10 fudph 01
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybywé N 1
Unyniuwy N 10-01

wjn pYnLd puwn dpwantiph
Anpéwnhp h2fuwbnipwl, whwnwywh
Juwrwywndwl hwbpwwtunwywb L
nwpwépwht Yurwywnpiwb
dwnuihbbbph ywhwwOnd
Clnwaklp wjn pUNLd puwn
Glpwiudph - YwwnwpnnGbph
<nnjwéh wojwanidp gnidwnp = =
(hwquin g Ss |s o 3£
nnwattpnd) | £ Tz |552%2
[} S 2 a2 =225
S 5 )
5 vs5|3355s
E v32 | 232353
£ 52 |28233
£2 |V7338
o ™
1 3 4
puLAUUGLL DUuuGN 670 310,9| 670 310,9| 549 459,1 120 851,8
wjn pyntd
LUuBUSHhY SUUGN 642 403,9| 642 403,9| 525459,1 116 944,8
wyn pyntd
nGSULYUL UuNPuUhuvutNh, "NPULS GuUUU 440 267,1| 440 267,1| 367 016,1 73251,0
A3NtRGSU3PL <hULUNYLENP UCluuSNTLENh
uchuusu4unNg
wjn pyntd
- pwnuwpwghwwb dwewinnbtph wywpglwwnpdwb $nln 28677,01 28677,01 245905 4 086,5
LUuLBUShY SPULUDENSLEN 76 684,2 76684,2| 64003,8 12 680,4
wjn pynd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 76 684,2 76684,2| 64003,8 12 680,4
wjn pyntd
- ywnuwnhp unghwjwywb wwwhndwannipjwb y&wnbbp 76684,2 76684,2] 640038 12 680,4
umnPruuvLLEMh ALUUL G4 ounusnt@3NtuueNrh 125452,6( 125452,6| 944392 310134
Jysunruuu oukuuenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 13840,8] 13840,8( 113728 2468,0
wjn pynd
Qnyp, gnuubljuywiht wwpwbpbtp L Gnuetp 13840,8| 13840,8| 113728 2468,0
wjn pynd
- gnwutluwywiho wwnwbpbbp L Ginepbp 13840,8| 13840,8| 113728 2 468,0
Anpéninnuibbp b wrwinnwywb ninbnpnigntbbbp 8 806,5 8 806,5 4.306,5 4500,0
Spwluwnpuwihb SwrewntpnLGbEph y&wnbbp 59478,01 59478,0( 51078,0 8400,0
Lwuwh Swewjntpntbbtph J&wnbtn 22821,4| 228214 12827,6 9993,8
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1 2 3 4
Undntbw) swewjniintGbbnh y&wnbkn 9158,5 9158,5 5326,9 3831,6
wjn pynLd
ElGYwnpwtGEpghwih, Jwebhph L 9Grnigdwl dwiuubp 8454,0 8 454,0 4 .804,6 36494
2nuinin- Ynninnig ogunnybint Jwpdh JAwndwhb dwiuubn 490,3 490,3 402,0 88,3
Uy yndntGwy, Swiuubin 214,2 214,2 120,3 93,9
Uy, Swfuukn 113474 113474 95274 1820,0
wjn pynd
Qnijph Jundwlwinipub dwiuubp 1165,1 1165,1 1165,1 0,0
wjn pyntd
- 260pLnh, 2hbnLpntbbeph L pGwywnwbGbph 1165,1 1165,1 1165,1 0,0
Jwpdwywintpjwb dwiuukn
Lwnybph, tinippbph b wy, wwpwnwnhp y&wnpbbpp 522,0 522,0 522,0 0,0
Yuunwndwl dwiuubn
Lbpywjwgnigswlywb dwiuubn 1800,0 1.800,0 1500,0 300,0
Uj| SwrwnipntGbbph dbrppbndwl dwiuubp 7 860,3 7 860,3 6 340,3 1520,0
LunhsulL cuuer 27 907,01 27907,0( 24000,0 3907,0
wjn pyntd
yunhsul veNANPNFULENHh SUlUGN 27 907,01 27907,0( 24000,0 3907,0
wjn pynLd
LUuNhSUL U4sShyuGNh 6NLAGNUUL CUUGH 27 907,01 27907,0( 24000,0 3907,0
wyn pyntd
Uwnptph L uwppwynpniibbph dsrpptpdwl swiuubp 13407,01 13407,0 9500,0 3907,0
Uy, wywnhybbph d6rpptndwb dwiuutbn 14 500,0/ 14 500,0( 14 500,0 0,0

Unyntuwly 10-01 (pOnwdklp 2 £9)
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{wybywé N 1
Unyniuwy N 10-02
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wyn pyntd puwn dpwanptiph
&nntnh wannphshwlwa ”gb‘jé@”“‘dﬁ““&a‘i‘g{“ Cwiwpfuwnhwiht pwalh
UniEyunnpunptowdwhG hGunwagnunipwb L i wowygnipjwip
2whwagnpéntd, gnntGunwihb
gwlgh dwppnid L pbpwghy pGpphnLpwb knh G GEnh L hpwywbwgynn Nrngiwb
Gnpngnd pwnépwgiw entinh dwywpnwyGtnh hwiwywngh qupgugiwb
tuhongwreniiltn nnwyh npnzawit opwahp
wpfuwwnwbpltn
QOnwikOp
Ghpwiuiph wjn pYntd pun wjn pYntd puwn wyn pYntd pun wjn pYntd pun
<nnywéh waywbnuip gnidwpp — Jwuwwpnnlbnph — JwuwnwpnnlObph — Jwuwwpnnlbph — Jwuwnwpnnbbph
(hwaqup = =) = =1 =) =1 S
npwaGtpny) g s o3t g ERE g s o3t g s _ o3t
c £sS 3¢= c ®c c Ss 3¢ c £SsS 3 &=
© 33 &Tcs © e © I3 &Tco © 33 &cso
g 42235 g 3 2 g 82255 g S@2EBS
= L) c = 5 c. () “© c () © c
5 33552 5 NACEE] 3 33553 3 33553
c o 3 c o o 3 o & 3
a | g23525| & 22 a | g3325 g J3325
Y=235 23 Y235 Y723k
c 3 5 c 3 c 3
(o)) [o]] ™
1 3 5 7 9
puLIUUGLLE CUUGN 3025287,7 333 000,0 333 000,0( 42288,0 42 288,0| 87 000,0 87 000,0| 1946 399,7 1946 399,7
wyn pyntd
pLEUSHhY DUUGN 645 036,3| 333 000,0 333 000,0( 42288,0 42 288,0| 87 000,0 87 000,0 182 748,3 182 748,3
wjn pyntd
puEUShU SPULUDENSLEN 129 288,0 0,0 0,0| 42288,0 42 288,0| 87 000,0 87 000,0 0,0 0,0
wjn pynLd
Uy pbpwghy nnpwbudbnpuinwiht y&wnbbn 129 288,0 0,0 0,0| 42288,0 42 288,0| 87 000,0 87 000,0 0,0 0,0
wyjn pyntd
- pOpwghy Gepphb wy tnpwbubbpunwiht y&wpokn 129 288,0 0,0 0,0| 42288,0 42 288,0| 87 000,0 87 000,0 0,0 0,0
unPruueuGNh auUuu 4 ounu3dnk@3ntuurNrh 515 748,3| 333 000,0 333 000,0 0,0 0,0 0,0 0,0 182 748,3 182 748,3
JsuNruuLu ouuen
wyjn pyntd
Uj| Swfuubn 515 748,3| 333 000,0 333 000,0 0,0 0,0 0,0 0,0 182 748,3 182 748,3
wyn pyntd
Uy, SwrwjntpyntGbbph d6rppbndwl dwiuukin 515748,3| 333 000,0 333 000,0 0,0 0,0 0,0 0,0 182 748,3 182 748,3
LUuMhSUL duuGeP 23802514 0,0 0,0 0,0 0,0 0,0 0,01 17636514 1763 651,4
wjn pyntd
LuMhsSuUL vGPNPNFULENH SUUGN 18191514 0,0 0,0 0,0 0,0 0,0 0,0 1763651,4 17636514
wjn pyntd
LUMhSUL chuuruNrnkHE@3UuuL SuluueP 18116514 0,0 0,0 0,0 0,0 0,0 0,0 17636514 1763 651,4
LuuaduLtsu2nNsuyUuL ocuueN 7 500,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LuMhSUL vNrNanktuLueNrh cuueN 561 100,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyn pYntd puwn dpwantiph

Qjninwunbuinbuwywb
hnnwuwunbtuptph
ROwyw YephwlnuGtinh wwhww(ney, pwpbiuynid UniEyunnpwnptawdwhb
(wpnunlbph) pwpGiwyned L
wnphwgnt L hbdtOGpwywb gwlgh Ywrenignid
en Yurenigywépltnh
yGpwywbglnid
wyn pYnLd puwn wyn pYnLd puwn wyn pYnLd puwn
<nnwsh wodwlnidp — Jwuwnwnnnbtph — Jwuwnwnnnltph — Jwuwwpnnlbnph
c c c
o c [ 9
g EE g EE g a_s3%
= ®z c ®c c £sS 3¢
ES) 2 @ ES) z @ ES) 3 Vg § % ‘E
g BE g BE g SEEBS
5 V'S 3 5 v S 3 5 3 3 3 Ss
£ 33 £ 22 e | 28333
a =5 a =5 a Y3555
cS cS \ S g J§_
a 3 g
10 11 12 13 14 15
puAUUGBLL DUuUGN 300 000,0 300 000,0| 268 600,0 268 600,0( 48 000,0 48 000,0
wjn pynLd
QUBUSHhY CUUGN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
LUuLBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- pOpwghy Gbnpht wy wpwbudbpunwiht yawnbtn 0,0 0,0 0,0 0,0 0,0 0,0
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0
J4suruuu oukluutenN
wjn pyntd
Uy, Swfuukn 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
Uj| SwrwnipntGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0
LUuMhSUL duuGeP 300 000,0 300 000,0| 268 600,0 268 600,0( 48 000,0 48 000,0
wjn pyntd
uunhsulL veNPaNPNFULENh SUlbuGN 7 500,0 7 500,0 0,0 0,0] 48000,0 48 000,0
wjn pyntd
LUUMNhSUL ChuuNPuMNHE3UL SUuutN 0,0 0,0 0,0 0,0] 48000,0 48 000,0
LuuaouLEsu2nNsuYUL oukuueN 7 500,0 7 500,0 0,0 0,0 0,0 0,0
yunhsuL vNrNantuLENh culuueN 292 500,0 292 500,0| 268 600,0 268 600,0 0,0 0,0
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COnwakOp pwnbiwyncd L Gnpngnid
Glpwiudph
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<nnywish waquwanuap ?htch;uuTr? z Jwuwwpnnbtnh i Ywuwnwnnnltph z Jwuwwpnnbtnh = Jwuwwpnnbtph
c S c [= S = =}
st gl o 238 | § 35 T | e_.s38| § | 2_s38
c £€3S3¢= <A ol =3 £€sS3¢= <A £33 3¢=
o 33 &Fcs © = & © 33 &Fcs © 33 &cso
f=] QJVJEBC =] gE f=] QJVJEBC 1 Q_I_VJEBC
S © & ELT S 3 € S © & ELT S ©EEBT
3 3335¢g 2 NEE 3 33553 2 33553
3 £3223 3 vVZE 3 £3223 3 S3E23
= 33353 = 5 3 = 33353 = 33353
g | S322: | 3 52 g | S322s| 3 | S5223
V=235 33 V=235 V=235
c 3 = c 3 c 3
(o)) (3] (3]
1 2 3 4 5 6 7 8 9
puLAUUGLL DUuuGN 2725493,4] 911 790,0 911 790,0( 9995,0 9995,0( 901 103,7 901 103,7( 898 604,7 898 604,7
wyjn pyntd
LUuBUSHhY SUUGN 411 000,9( 311 790,0 311790,0( 9995,0 999501 297738 29773,8| 554421 554421
wyn pyntd
MGSULYUL UuNPUhuvutNh, (NPULS GulUUU 21060,0/ 21060,0 21 060,0 0,0 0,0 0,0 0,0 0,0 0,0
A3NtRGSU3PL <hULUNYLENP UCluuSNILENh
uchuusu4unNg
QUBUShY SPULUDENSLEN 4000,0 4 000,0 4000,0 0,0 0,0 0,0 0,0 0,0 0,0
wyjn pyntd
Uy pbpwghy nnpwbudpbpunwihlt y&wnbtn 4 000,0 4 000,0 4000,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- ywnuwnhp unghwjwywb wwwhndwannipjwb y&wnbbp 4000,0 4.000,0 4000,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 385940,9| 286 730,0 286 730,0( 9995,0 999501 297738 29773,8| 554421 554421
Jysunruuu oukuuenN
wyn pyntd
Uwpwbplbbph d6rpptpnid 470,0 470,0 470,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 470,0 470,0 470,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- gpuubljwywiht wwpwGpbtn L Gnupbn 470,0 470,0 470,0 0,0 0,0 0,0 0,0 0,0 0,0
Qnpéninniibtn L Swrwnnuywb ninlnpnigintbbbn 1 000,0 1000,0 1 000,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpunuwihb swewnipntbGeph y&wnatbn 6 600,0 6 600,0 6 600,0 0,0 0,0 0,0 0,0 0,0 0,0
YUwuwh Swewjnipntbbbph y&wnotbn 920,0 920,0 920,0 0,0 0,0 0,0 0,0 0,0 0,0
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Unyniuwly 10-03 (pOnwdklp 4 £9)

1 2 3 4 6 7 8 9

Undntbw) swewjniintGbbnh y&wnbkn 920,0 920,0 920,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

ElGYwnpwtGEpghwih, Jwebhph L 9Grnigdwl dwiuubp 820,0 820,0 820,0 0,0 0,0 0,0 0,0 0,0 0,0
2nuinin- Ynninnig ogunnybint Jwpdh JAwndwhb dwiuubn 100,0 100,0 100,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swfuukn 376 030,9| 276 820,0 276 820,0( 9995,0 999501 297738 29773,8| 554421 554421
wjn pyntd

Qniph yupdwywinipwb dwiuubn 6 240,0 6 240,0 6 240,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

- 260pLnh, 2hbnLpntbbeph L pGwywnwbGbph 6 240,0 6 240,0 6 240,0 0,0 0,0 0,0 0,0 0,0 0,0
Jwpdwywintpjwb dwiuukn

Uy, SwrewjntpyntGbbph dGrppbndwl dwiuukn 369 790,9| 270 580,0 270580,0( 9995,0 9995,0 297738 29773,8| 554421 554421
LUunhsulL cuuer 2314 492,5| 600 000,0 600 000,0 0,0 0,0 871329,9 871329,9( 843 162,6 843 162,6
wjn pyntd

yunhsul veNANPNFULENh SUluGN 1714 492,5 0,0 0,0 0,0 0,0 871329,9 871329,9( 843 162,6 843 162,6
wjn pyntd

LUuNhSUL chuuruNrnkE3UuL SuuutnN 1250713,8 0,0 0,0 0,0 0,0 871329,9 871329,9( 379383,9 379 383,9
LUUMNhSUL U4ShyuGNh Q6NLAGNUUL CUUGH 463 778,7 0,0 0,0 0,0 0,0 0,0 0,0| 463778,7 463 778,7
wjn pynLd

Uyl wywinhybbph d6rpptndwl dwiuubn 463 778,7 0,0 0,0 0,0 0,0 0,0 0,0| 463778,7 463 778,7
yunhsuL vnrNnantuuNrh cuklbueN 600 000,0| 600 000,0 600 000,0 0,0 0,0 0,0 0,0 0,0 0,0
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GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

<nnwéh wodwbnidp

wyn pYnLd puwn dpwantiph

Ulwlw |&ntd dywl L
futggtuinlh wwawnbtnh
hwpdwrenid

wyn pYntd pun

- Jwuwnwnnnbtph

c

g =

: 23

2 gz

S S ©

2 v33

3 vVZE

c 33

a 33

SLJ

10 11
puLAUUGLL DUuuGN 4.000,0 4.000,0
wjn pyntd
LUuBUSHhY SUUGN 4.000,0 4 000,0
wjn pyntd
MGSULYUL UuNPUhuvutNh, (NPULS GulUUU 0,0 0,0
A3NtRGSU3PL <hULUNYLENP UCluuSNILENh
uchuusudunra
QUBUShY SPULUDENSLEN 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwbudbpunwiht yawnbtn 0,0 0,0
wjn pynd
- ywnuwnhp unghwjwywb wwwhndwannipjwb y&wnbbp 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 4.000,0 4.000,0
Jysunruuu oukuuenN
wjn pynLd
Uwpwbpbbph d6rppbpnid 0,0 0,0
wjn pyntd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 0,0 0,0
wjn pyntd
- gpwubbjwywiht wwpwbpbtn L GnLetbn 0,0 0,0
Anpéninnuibtp L swrwinnwywb ninlnpnipintbbbp 0,0 0,0
Spwluwnpuwihb swewntpnLGGEph y&wnlbp 0,0 0,0
Ywuwh dwewjnigntbbbph y&wnltp 0,0 0,0

Unyniuwly 10-03 (pOnwdklp 4 £9)
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Undntbw) swrwjnipintbbtph y&wnbtkn 0,0 0,0
wjn pynLd

ElGYwnpwtGEpghwih, Jwebhph L 9Grnigdwl dwiuubp 0,0 0,0
2nuinin- Ynninnig ogunnybint Jwpdh JAwndwhb dwiuubn 0,0 0,0
Uy, Swfuukn 4 000,0 4.000,0
wyn pyntd

Qnijph Jundwlwinipub dwiuubp 0,0 0,0
wjn pyntd

- 260ptnh, 2nGnLpnLGbGEph L phwlywnwbbBph 0,0 0,0
Jwpdwywintpjwb dwiuukn

Uj| wrwnipntGbbph dGrppbndwl dwiuubp 4000,0 4.000,0
LUunhsulL cuuer 0,0 0,0
wjn pyntd

yunhsul veNANPNFULENh SUluGN 0,0 0,0
wyn pyntd

LUuNhSUL chuuruNrnkE3UuL SuuutnN 0,0 0,0
LUUMNhSUL U4ShyuGNh Q6NLAGNUUL CUUGH 0,0 0,0
wyn pyntd

Uj wywinhybkiph dGrppbpdwl dwiuubkn 0,0 0,0
yunhsuL vnrNnantuuNrh cuklbueN 0,0 0,0

Unyniuwly 10-03 (pOnwdklp 4 £9)
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{wybywé N 1
Unyniuwy N 10-04

wyn pyntd puwn dpwanptiph

Pnyubph Ywpwbwnhoh L
anindwywpentutinh
AnLub WoWWOnL Bl pniuwuwOhnwnwywb yhgwyh
J dnhhgnwgufnnwjubn e UnGhwnnphlgh, (wpnpwunnn
thnpdwplGnipntbbeph hhdwb Yypw
Ywltuwngtihs L wiuwnnpnzhs
QOnwaikOp swrwnLNLGbEph hpwywbwgnid
Glpwiudph
wyn pYntd puwn wyn pYntd puwn
<nnwéh wodwbnidp gnLiwnp . YuinwnnnGlph . YuinwnnnGlph
(hwquwn g g
nwattpad) | EES g ERS
c e c c © =
o EE o £ S
S 5 E S 5 E
fib} b}
E VR E V332
£ 3 3 £ 33
d =5 d =5
EJ gc
c S
1 2 3 4 5
puLAUUGLL DUuuGN 389 011,0| 300 000,0 300 000,0 89 011,0 89011,0
wjn pyntd
LUuBUSHhY SUUGN 389 011,0| 300 000,0 300 000,0 89 011,0 89011,0
wjn pyntd
QUBUShY SPULUDENSLEN 89011,0 0,0 0,0 89 011,0 89011,0
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 89 011,0 0,0 0,0 89 011,0 89 011,0
wjn pynLd
- pOpwghy Gbnpht wy wpwbudbpunuwiht yswnbtn 89011,0 0,0 0,0 89 011,0 89011,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 300 000,0{ 300 000,0 300 000,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 146 427,0| 146 427,0 146 427,0 0,0 0,0
wjn pyntd
Uy, Swiuukn 146 427,0| 146 427,0 146 427,0 0,0 0,0
Uy, Swiuubn 153 573,0 153 573,0 153 573,0 0,0 0,0
wjn pyntd
Uy, Swrewjntpintbbeph dGrppbndwl dwiuukn 153 573,0 153 573,0 153 573,0 0,0 0,0

Unyniuwly 10-04 (pOnwdklp 1 £9)
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optlph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrOwywl nwuwywngiwb 10 fudph 05

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybywdé N 1
Unyntuwy N 10-05

Unyniuwly 10-05 (pOnwdklp 6 £9)

wyn pyntd puwn dpwanptiph

<L Jwrwywnnipwblo wepbpbp

UOwulwpnidwywb Swrwntpjwl,
hwywhwiwdwnpwywihh shongwrenidbtph,

NMwunywuwnntybsph b wy nunhywbnipywb
hwywhwdwdwnpwywih wlwulwpnidwyw ubU[ImUCIhUEDOh hOhL{wﬁnnLraJn[Llﬁglénh
Uhongwrenidlbph hwdwp nunhywlwywb nwuwyh Ynnihg YwiluwngGawh wafuwinwipltnh
wohpwdboun wwpwawatnh YnWOWhGWRG Jugiwytpwiwb pwgwywrenid wiunnegjub
abinpptipnLd uwhdwowwynudGsnh Unndhg hwduylph nbwdwnhl wwunyhpwlws
hnwlwGwgnid lhwgnpnigyntbGtph hpwywbwgdwb
l?ﬁur;}utfhfggﬁ $hlwhuwynpnLd
<nnywéh woywaniip gnLiwpp wyn pYnLd puwn wyr pYNLd puwn wjn pynLd pun
(hwquin = Ywuwnwpnnltiph = YwwnwpnnOtiph = Ywuwnwpnnltiph
nnpwibbpny) =1 - =1 = = -
<3 <3 <3
3 33 3 33 3 33
= [N = e c c [O
’S) Z2 & ’S) Z® 5 Z2 &
g 32 g ZE g 32
5 5 s
E VEE] E VEE] E MERE]
g 53 g 53 g 53
d =5 d =5 d =5
cC S cC S cC S
S5 3 S5
1 3 5 6 7
puAUUGBLL DUuUGN 2856697,4| 843814,0 843 814,0 14 000,0 14 000,0 384 000,0 384 000,0
wyn pyntd
LUuBUSHhY SUUGN 14364257 797 374,0 797 374,0 14 000,0 14 000,0 384 000,0 384 000,0
wyn pyntd
QUBUShY SPULUDENSLEN 154 328,4 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 154 328,4 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 154 328,4 0,0 0,0 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 1282097,3| 797 374,0 797 374,0 14 000,0 14 000,0 384 000,0 384 000,0
Jysunruuu oukuuenN
wyn pyntd
Uwpwbplbbph d6rppbpnid 797 374,0| 797 374,0 797 374,0 0,0 0,0 0,0 0,0
wjn pyntd
NEnnpwip L yhpwwwwihb npbn 797 374,01 797 374,0 797 374,0 0,0 0,0 0,0 0,0
Uy, Swfuukn 484 723,3 0,0 0,0 14 000,0 14 000,0 384 000,0 384 000,0
wjn pyntd
Uy, SwrwjntpintGbbph dGrppbndwl dwiuutn 484 723,3 0,0 0,0 14 000,0 14 000,0 384 000,0 384 000,0
LUuMhSUL SuueP 1420 271,7 46 440,0 46 440,0 0,0 0,0 0,0 0,0
wjn pynd
uunhsulL veNPNPNFULENh SUlbuGN 1099 027,7 46 440,0 46 440,0 0,0 0,0 0,0 0,0
wjn pyntd
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1 2 3 7

LUUMNhSUL ChuuNPuMNHE3UL SUuutN 205 632,0 0,0 0,0 0,0 0,0 0,0 0,0
LuuaouLEsu2nsuyYUL oukuueN 4 400,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 773970,3 46 440,0 46 440,0 0,0 0,0 0,0 0,0
wjn pynd

Uwnptph L uwppwynpniibbph dsrpptpdwl swiuubn 154 575,3 46 440,0 46 440,0 0,0 0,0 0,0 0,0
Ui wywnhybbph d6rpptndwl dwiuutbn 619 395,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuMhsSUL sPULUDGNSLENP QONY DUuUGN 115 025,4 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Ywuwhuwwy Gepphlt tnnpwbubbpunltn 115 025,4 0,0 0,0 0,0 0,0 0,0 0,0
yunhsulL vNrNantuLENh cukuueN 321 244,0 0,0 0,0 0,0 0,0 0,0 0,0
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0zce

wjn pYnLd puwn dpwantiph
Qjninwiinbunbuwywb YebnwohGtph << Ywyng 2nnh dwnpgh
Qninwnbntuwywl hhywannLpynLabtnh (wpnpwwnnn atpdnLy pwnwph <wiwzfuwphwhl pwlyh
wowygntpjwip
Gwlwynipwb wy wiunnpniwl b Yebnwowywb swgnid | 2powlwpntd dndwybkph
hnwiwbwgynn
opjywinltph nttgnn hnidph L Gniph ntd wwpwnh gény @rstwanhwht hwlwanbint
hhdbwbnpngnid thnpdwplOntpjwb shongwreniibkph dhongwreniiltiph spwgh
hpwywlwgntd hpwywbwgnti nwann
<nnywsh woywbnudp wyn pYnd putn wyn pYnLd pun wyn pYnLd putn wyn pYnLd pun
= YuwwnwnnnObph = Ywwnwnnnbtph - Ywwnwpnnbtiph = Ywwnwnpnnlbph
ey ey c ey
c c c c
] EE 3 EE 3 a 3 EE
S &< S &< S €3 S <
o £ o £ o £5 o ES
S 5 E S 5 E S e S 5 E
2 vS3 2 vS3 2 23 2 R}
3 S =3 3 S =3 3 3 3 3 S =
S 332 5 33 5 2e S 33
a €3 a €3 d Y 3 a €3
et } cC S cC S
3 3 S5
9 10 11 12 13 14 15
puAUUGBLL DUuUGN 150 000,0 150 000,0 154 328,4 154 328,4( 20 000,0 20 000,0| 1109 341,8 1109 341,8
wyn pynLd
LUuBUSHhY SUUGN 0,0 0,0 154 328,4 154 328,4( 20 000,0 20 000,0 66 723,3 66 723,3
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 154 328,4 154 328,4 0,0 0,0 0,0 0,0
wjn pynd
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 154 328,4 154 328,4 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 0,0 0,0 154 328,4 154 328,4 0,0 0,0 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0| 20 000,0 20 000,0 66 723,3 66 723,3
Jysunruuu oukuuenN
wjn pynd
Uwpwbpltph dGrpptnpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
NEnnpwjp L yhpwwwuwhb nuptn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swfuukn 0,0 0,0 0,0 0,0| 20 000,0 20 000,0 66 723,3 66 723,3
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0] 20 000,0 20 000,0 66 723,3 66 723,3
LUuMhSUL SuueP 150 000,0 150 000,0 0,0 0,0 0,0 0,0 1042618,5 1042618,5
wjn pynd
uunhsulL veNPNPNFULENh SUlbuGN 4 400,0 4 400,0 0,0 0,0 0,0 0,0 866974,5 866 974,5
wjn pyntd
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8 9 10 11 12 13 14 15

LUUMNhSUL ChuuNPuMNHE3UL SUuutN 0,0 0,0 0,0 0,0 0,0 0,0 205632,0 205 632,0
LuuaouLEsu2nsuyYUL oukuueN 4 400,0 4 400,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 0,0 546 317,1 546 317,1
wjn pynd

Uwnptph L uwppwynpniibbph dsrpptpdwl swiuubn 0,0 0,0 0,0 0,0 0,0 0,0 108 135,3 108 135,3
Ui wywnhybbph d6rpptndwl dwiuutbn 0,0 0,0 0,0 0,0 0,0 0,0 438181,8 438 181,8
LUuMhsSUL sPULUDGNSLENP QONY DUuUGN 0,0 0,0 0,0 0,0 0,0 0,0 115 025,4 115 025,4
wjn pyntd

Ywuwhuwwy Gepphlt tnnpwbubbpunltn 0,0 0,0 0,0 0,0 0,0 0,0 115 025,4 115 025,4
yunhsulL vNrNantuLENh cukuueN 145 600,0 145 600,0 0,0 0,0 0,0 0,0 175 644,0 175 644,0
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wyn pYntd puwn dpwantiph

Lwiwluwphwih0 pwOyh

wowygnLpjwip
hpwywawgynn
[@rsGwagnphwhb hwywagntint
AswwnOwywa
nnwdwbnphwihlG dpwghp
<nnywéh woywaniip wyr pUnLd puwn
= Yuwnwnpnn(tph
ey
c
o =
3
2 52
g c s
S 5 g
fis)
E MEE]
g 53
d =5
cC S
o
16 17
puLIUUGLLE CUUGN 181 213,2 181 213,2
wyn pyntd
LUuBUSHhY SUUGN 0,0 0,0
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0
wjn pynd
Uj| pbpwghy tnpwludtipmnwihb JAwnbtp 0,0 0,0
wyn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 0,0 0,0
umnPruuvLeLGEMh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0
Jysunruuu oukuuenN
wyn pyntd
Uwnwbplbbph dGrppbpnid 0,0 0,0
wjn pyntd
NEnnpwjp L yhpwwwuwhb nuptn 0,0 0,0
Uj| Swfuubn 0,0 0,0
wjn pyntd
Uj| SwrwntpntGbbph dbrppbndwl dwiuubp 0,0 0,0
LUuMhSUL SuueP 181 213,2 181 213,2
wyn pyntd
uunhsulL veNPNPNFULENh SUlbuGN 181 213,2 181 213,2
wjn pyntd

Unyniuwly 10-05 (pOnwdklp 6 £9)



€ce

16 17

LUUMNhSUL ChuuNPuMNHE3UL SUuutN 0,0 0,0
LuuaouLEsu2nsuyYUL oukuueN 0,0 0,0
LUuUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 181 213,2 181 213,2
wjn pynd

Uuwnptph L uwppwynpniiltph drpptndwb dwiuubp 0,0 0,0
Ui wywnhybbph d6rpptndwl dwiuutbn 181 213,2 181 213,2
LUuMhsSUL sPULUDGNSLENP QONY DUuUGN 0,0 0,0
wjn pyntd

Ywuwhuwwy Gepphlt tnnpwbubbpunltn 0,0 0,0
yunhsulL vNrNantuLENh cukuueN 0,0 0,0

Unyniuwly 10-05 (pOnwdklp 6 £9)
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optlph 7-nn. hnnywény pntobuinwhl swfuubph gnpéwrOwywl nwuwywngiwb 10 fudph 06
bGpwludph dpwantinh gony hwunwngwé hwnlwgnuaGtph JEnewaniat puwn Unyntuwy N 10-06
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

wyn pYnLd pun dpwgnkiph
UtS Pphuinwbhwih b gniuhuwhlb hrjwbnhwh
UbGunwrwywhwwlwywa, Uhwgjwi Bwagwynpnipjwl Ynnihg <wjwuwnwbh
wlnwreYbpwywigbiwb L UGunwrwih( wEwnwywb Lwlpwwtwnnipubp $hbwbuwywb oglnipjwb
wlunwrehbwyw unGhwiinphbgh Ywpgny wnnpwiwnpywé Gy hpwpbpnipjwl
w2 fuwwnwbpbbph hpwywGwgntyd thonglbph hwayhb hpwywbwgynn ££
hpwywbwgnLd Qtnwnpntbhph L Swynizh dwpgbpnd dwpquihb
CoOnwaikOp quingugdwb dnwghp
GUpwfudph wjn pYntd puwn wyn pYntd pun wjn pYntd puwn
<nnyuwiéh wijwanudp gnuawnn - Ywunwnnnbtph — Juwuwnwnnnbtph — Ywuwnwnnnbtph
(hwquin 2 Z 2
npwitkpny) % S s § 3 s § £ 5
c ®c c @ c c E 3
0 c & 0 c =) S
g 3E g 3E g X
3 ¥53 3 ¥53 3 SB
3 5 3 =3 3 =3
] I - 32 £ 5
d 3 d S3 d g3
€S €S NV
c S
1 2 3 4 5 6 7
puLAUUGLL DUuuGN 1345 267,01 1289679,0 1289 679,0 52588,0 52 588,0 3000,0 3000,0
wjn pyntd
LUuBUSHhY SUUGN 790 588,0 735 000,0 735000,0| 52588,0 52 588,0 3000,0 3000,0
wjn pyntd
QUBUShY SPULUDENSLEN 787 588,0 735 000,0 735000,0| 52588,0 52 588,0 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 787 588,0 735 000,0 735 000,0( 52 588,0 52 588,0 0,0 0,0
wjn pynLd
- pOpwghy Gbnpht wy wpwbudbpunuwiht yswnbtn 787 588,0 735 000,0 735000,0| 52588,0 52 588,0 0,0 0,0
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 3000,0 0,0 0,0 0,0 0,0 3000,0 3000,0
Jsuruuu oukuutenN
wjn pyntd
Uy, Swfuukn 3000,0 0,0 0,0 0,0 0,0 3000,0 3000,0
wjn pyntd
Uj| SwrwnipntGbbph dbrppbndwl wiuubp 3000,0 0,0 0,0 0,0 0,0 3000,0 3000,0
LunhsulL cuuer 554 679,0 554 679,0 554 679,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsuL vNrNantuLENh culuueN 554 679,0 554 679,0 554 679,0 0,0 0,0 0,0 0,0
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<LU|-I_b|_llLU('J N 1 Unyntuwly 10-07 (pOnwdklp 8 t9)

Unyniuwy N 10-07

gee

wyn pYnLd puwn dpwgnkiph
Utpdtph npwyh unnigiwb
Lwwnniy nt weinwywb <hnpnontnlntpwpwbwywb UphGuwnwywb
tdhongwreniiltph unpunnwithnpdwpydwa Uhongwreniiltph gény wEwnwywb ubpitwynpdwh
hpwywbwgnti Uhongwrentbbph wwuwnybp Uhongwrniibtp
hpwywbwgntyd
QOnwukOp
Glpwiudph
<nnywéh woywaniip gnLiwpp wyn pYnLd puwn wjn pYntd puwn wjn pynLd pun wjn pynLd pun
(hwquin = | Ywwwpnnbbph = Ywunwpnnltiph = Ywwnwpnnltiph = Ywwnwpnnltiph
npwattpnd) | £ = £ = £ = = =
<3 g <3 <3
3 33 3 3s 3 3s 3 3s
= e c c [N c [N = [N
g 3E g 32 g 32 g 32
E VEF] E VEF] E VEF] E VEF]
5 53 5 5 3 5 5 3 5 5 3
d =5 a =5 d =5 d =5
et } cC S cC S cC S
<3 o =3 =2
1 3 5 7 9
puLIUUGLLE CUUGN 14 081 762,9| 1 000,0 1000,0| 28300,0 28 300,0 2200,0 2200,0( 41500,0 41 500,0
wyn pynLd
LUuBUSHhY SUUGN 9272 524,7| 1000,0 1000,0| 28300,0 28 300,0 2200,0 2200,0( 41500,0 41 500,0
wjn pyntd
MGSULYUL UuNPUhuvutNh, "NPULS GuUUU 7 196,0 696,0 696,0 0,0 0,0 0,0 0,0 0,0 0,0
P3NFAGSU3hL <hULUNYLENh UCluuSNILGNh
uchuusudunr
untruhNhuutP 5685 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
MEnwlwb pniobhg hwdwybpltnh pintetGEnhG tipynn 30 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Owwuwnwywihb hwwnwgnidbep unipytbghwbn
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 5655 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
puEUShU SPULUDENSLEN 87 427,8 267,0 267,0( 28300,0 28 300,0 0,0 0,0 0,0 0,0
wjn pyntd
Uy pbpwghy tnpwbudbnpuinwiht y&wnbbn 87 427,8 267,0 267,0] 28300,0 28 300,0 0,0 0,0 0,0 0,0
wjn pyntd
- wnpuwnhp unghwjwywb wwwhnjwgpnipgwb y&wnpbbn 1495,0 267,0 267,0 0,0 0,0 0,0 0,0 0,0 0,0
- pOpwghy Gbnpht wy wpwbubbpunwiht yawnbtn 85932,8 0,0 0,0] 28300,0 28 300,0 0,0 0,0 0,0 0,0
unPruuvLlLGEMPh ALUUL G4 ounu3nt@3NtuueNrh 3492 900,9 37,0 37,0 0,0 0,0 2200,0 2200,0( 41500,0 41 500,0
Jsuruuu oukuutenN
wjn pyntd
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1 2 6 7 8 9

Uwpwbplbbph d6rpptnpnid 22 037,0 37,0 37,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Qnup, gpwubuywiht wwpwbpbtn L Gjnipkn 37,0 37,0 37,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

- gpwubbjwywiht wwpwbpbtn L GnLebn 37,0 37,0 37,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 22 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Qnpéninnuibtbp L wrwinnwywb ninbnpnigntbbbp 4126,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb SwewntpnLGbEph y&wnbbp 1800,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 3464 937,9 0,0 0,0 0,0 0,0 2200,0 2200,0( 41500,0 41 500,0
wjn pyntd

Uy, Swrewjntpintbbeph dGrppbndwl dwiuutn 3464 937,9 0,0 0,0 0,0 0,0 2200,0 2200,0( 41500,0 41 500,0
LUunhsulL cuuer 3188 458,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

yunhsul veNaANPNFULENHh SUbUGN 2 251 666,9 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd

LUuMhSUL chuuruNrnkE3uL ouuutnN 6 100,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Luluadu{csuansuyuu oukuueN 31808,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuUNhSUL U4sShyuGNh 6NLAGNUUL CUUGH 664 412,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Spwluwnpunuwihb thonglbtph dGrpptindwl dwiuubn 71400,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj wywinhybkiph dGrppbpdwl dwiuubkn 593 012,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsulL sPULUDGNSLENh AONY SUuutN 1549 345,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Lwuwhwwy Gepphl tnpwbudbnpunbbn 1549 345,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vNrNantuLENh culuueN 936 791,3 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
JunruyudnMniy <Uuusc yurniue 1620 780,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Lbippht Juwnywydnpnid” hwlwé dwpnidp 1620 780,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd

Shiwbuwywb YuwaliwybnpwnipntaGeph 1620 780,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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wyn pYnLd puwn dpwantiph

Qninwunbunbuntpywl

Spwiht hwdwywnagbph

Uowygnipntl qunqugiwl dhowagguwihl ogqunwagnnéiwl L
gninuwnbnbuwywb Nrngiwl hwdwywpgtph hhdGwnpwih wowygnipwlip wwhwwbnLpwb
nyjwybkph unLpuhnwynpntd hpwywbwgynn Qninwywb wnbjuthywywa
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puAUUGBLL DUuUGN 30 000,0 30 000,0| 5420 000,0 5420 000,0( 2170560,0 2170 560,0 14 000,0 14 000,0
wyn pynLd
LUuBUSHhY SUUGN 30 000,0 30 000,0| 5420 000,0 5420 000,0 135 660,0 135660,0( 14 000,0 14 000,0
wjn pyntd
MGSULYUL UuNPUhuvutNh, "NPULS GuUUU 0,0 0,0 0,0 0,0 0,0 0,0 6500,0 6 500,0
P3NFAGSU3hL <hULUNYLENh UCluuSNILGNh
uchuusudunr
untruhNhuutP 0,0 0,0 5420000,0 5420 000,0 0,0 0,0 0,0 0,0
wjn pyntd
MEnwlwb pniobhg hwdwybpltnh pintetGEnhG tipynn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Owwuwnwywihb hwwnwgnidbep unipytbghwbn
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0|] 5420000,0 5420 000,0 0,0 0,0 0,0 0,0
unLpuhnhwbn
LUuBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 1228,0 1228,0
wjn pyntd
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 0,0 0,0 0,0 0,0 0,0 0,0 1228,0 1228,0
wjn pyntd
- wnpuwnhp unghwjwywb wwwhnjwgpnipgwb y&wnpbbn 0,0 0,0 0,0 0,0 0,0 0,0 1228,0 1228,0
- pOpwghy Gbnpht wy wpwbubbpunwiht yawnbtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLlLGEMPh ALUUL G4 ounu3nt@3NtuueNrh 30 000,0 30 000,0 0,0 0,0 135 660,0 135660,0| 6272,0 6272,0
Jsuruuu oukuutenN
wjn pyntd
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10 11 12 13 14 15 16 17

Uwpwbplbbph d6rpptnpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Qnup, gpwubuywiht wwpwbpbtn L Gjnipkn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

- gpwubbjwywiht wwpwbpbtn L GnLebn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Qnpéninnuibtbp L wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 4126,0 4126,0
Spwluwnpuwihb SwewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 1800,0 1800,0
Uj| Swfuubn 30 000,0 30 000,0 0,0 0,0 135 660,0 135 660,0 346,0 346,0
wjn pyntd

Uy, Swrewjntpintbbeph dGrppbndwl dwiuutn 30 000,0 30 000,0 0,0 0,0 135 660,0 135 660,0 346,0 346,0
LUunhsulL cuuer 0,0 0,0 0,0 0,0 928 200,0 928 200,0 0,0 0,0
wjn pyntd

yunhsul veNaANPNFULENHh SUbUGN 0,0 0,0 0,0 0,0 31 808,7 31808,7 0,0 0,0
wjn pynd

LUuMhSUL chuuruNrnkE3uL ouuutnN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Luluadu{csuansuyuu oukuueN 0,0 0,0 0,0 0,0 31 808,7 31808,7 0,0 0,0
LUuUNhSUL U4sShyuGNh 6NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Spwluwnpuwihb dhonglbph dbrpptindwl swiuubp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj wywinhybkiph dGrppbpdwl dwiuubkn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsulL sPULUDGNSLENh AONY SUuutN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Lwuwhwwy Gepphl tnpwbudbnpunbbn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vNrNantuLENh culuueN 0,0 0,0 0,0 0,0 896 391,3 896 391,3 0,0 0,0
JunruyudnMniy <Uuusc yurniue 0,0 0,0 0,0 0,0| 1106 700,0 1106 700,0 0,0 0,0
wjn pynLd

Lbippht Juwnywydnpnid” hwlwé dwpnidp 0,0 0,0 0,0 0,0| 1106 700,0 1106 700,0 0,0 0,0
wyn pyntd

Shiwbuwywb YuwaliwybnpwnipntaGeph 0,0 0,0 0,0 0,0/ 1106 700,0 1106 700,0 0,0 0,0
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puAUUGBLL DUuUGN 57 632,8 57 632,8 369 100,0 369 100,0 399 308,0 399 308,0 200 883,9 200 883,9
wyn pynLd
LUuBUSHhY SUUGN 57 632,8 57 632,8 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
MGSULYUL UuNPUhuvutNh, "NPULS GuUUU 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
P3NFAGSU3hL <hULUNYLENh UCluuSNILGNh
uchuusudunr
untruhNhuutP 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
MEnwlwb pniobhg hwdwybpltnh pintetGEnhG tipynn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Owwuwnwywihb hwwnwgnidbep unipytbghwbn
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
[ [
untpuhnhwlbn
LUuBUShY SPULUDENSLEN 57 632,8 57 632,8 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 57 632,8 57 632,8 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- wwnuwnhp unghwjwywb wwwhndwannipjwb yswnbtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
- pOpwghy Gbnpht wy wpwbubbpunwiht yawnbtn 57 632,8 57 632,8 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLlLGEMPh ALUUL G4 ounu3nt@3NtuueNrh 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Jsuruuu oukuutenN
wjn pyntd
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Uwpwbplbbph d6rpptnpnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Qnup, gpwubuywiht wwpwbpbtn L Gjnipkn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

- gpwubbjwywiht wwpwbpbtn L GnLebn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Qnpéninnuibtbp L wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb SwewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

W) swrwnipintGbbph dbrppbndwl dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUunhsulL cuuer 0,0 0,0 369 100,0 369 100,0 399 308,0 399 308,0 200 883,9 200 883,9
wjn pyntd

yunhsul veNaANPNFULENHh SUbUGN 0,0 0,0 369 100,0 369 100,0 399 308,0 399 308,0 200 883,9 200 883,9
wjn pynd

LUuMhSUL chuuruNrnkE3uL ouuutnN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Luluadu{csuansuyuu oukuueN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuUNhSUL U4sShyuGNh 6NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 0,0 200 883,9 200 883,9
wjn pyntd

Spwluwnpuwihb dhonglbph dbrpptindwl swiuubp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uyl wywinhybbph d6rpptndwl dwiuubn 0,0 0,0 0,0 0,0 0,0 0,0 200 883,9 200 883,9
yunhsulL sPULUDGNSLENh AONY SUuutN 0,0 0,0 369 100,0 369 100,0 399 308,0 399 308,0 0,0 0,0
wjn pyntd

Lwuwhwwy Gepphl tnpwbudbnpunbbn 0,0 0,0 369 100,0 369 100,0 399 308,0 399 308,0 0,0 0,0
yunhsuL vNrNantuLENh culuueN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
JunruyudnMniy <Uuusc yurniue 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Lbippht Juwnywydnpnid” hwlwé dwpnidp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd

Shlwluwywl YugiwytpwnipntGbepha 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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26 27 28 29 30 31 32 33 34
puAUUGBLL DUuUGN 2072 098,2 2072 098,2 98 500,0 46 500,0 52 000,0| 235000,0 235000,0f 2941680,0 2941 680,0
wyn pynLd
LUuBUSHhY SUUGN 313 551,9 313 551,9 52 000,0 0,0 52 000,0| 235000,0 235000,0f 2941680,0 2941 680,0
wjn pyntd
nESU4UL UUruhuvueNh, NMULS GuldUuuu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
A3NFRGSU3hL <hULUNYLEGNP UCluUSNILENH
uchuusudunr
untruhNhuutP 0,0 0,0 30 000,0 0,0 30 000,0| 235000,0 235 000,0 0,0 0,0
wjn pyntd
MEnwlwb pniobhg hwdwybpltnh pintetGEnhG tipynn 0,0 0,0 30 000,0 0,0 30 000,0 0,0 0,0 0,0 0,0
Owwuwnwywihb hwwnwgnidbep unipytbghwbn
QtrGwnynipyntbbtnphb L Yugdwybpwnieyntbbtphb uvnpdnn 0,0 0,0 0,0 0,0 0,0 235000,0 235 000,0 0,0 0,0
unLpuhnhwbn
LUuBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uj| pbpwghy tnpwludtbpunnwihb yswnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- wwnuwnhp unghwjwywb wwwhndwannipjwb yswnbtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
- pOpwghy Gbnpht wy wpwbubbpunwiht yawnbtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLlLGEMPh ALUUL G4 ounu3nt@3NtuueNrh 313 551,9 313 551,9 22 000,0 0,0 22 000,0 0,0 0,0] 2941680,0 2941 680,0
Jsuruuu oukuutenN
wjn pyntd
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26 27 28 29 30 31 32 33 34

Uwpwbplbbph d6rpptnpnid 0,0 0,0 22 000,0 0,0 22 000,0 0,0 0,0 0,0 0,0
wjn pynLd

Qnup, gpwubuywiht wwpwbpbtn L Gjnipkn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

- gpwubbjwywiht wwpwbpbtn L GnLebn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 0,0 0,0 22 000,0 0,0 22 000,0 0,0 0,0 0,0 0,0
Qnpéninnuibtbp L wrwinnwywb ninbnpnigntbbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb SwewntpnLGbEph y&wnbbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| Swfuubn 313 551,9 313 551,9 0,0 0,0 0,0 0,0 0,0] 2941680,0 2941 680,0
wjn pyntd

Uy, Swrewjntpintbbeph dGrppbndwl dwiuutn 313 551,9 313 551,9 0,0 0,0 0,0 0,0 0,0] 2941680,0 2941 680,0
LUunhsulL cuuer 1244 466,3 1244 466,3 46 500,0 46 500,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

yunhsul veNaANPNFULENHh SUbUGN 1244 466,3 1244 466,3 6 100,0 6 100,0 0,0 0,0 0,0 0,0 0,0
wjn pynd

LUuMhSUL chuuruNrnkE3uL ouuutnN 0,0 0,0 6 100,0 6 100,0 0,0 0,0 0,0 0,0 0,0
Luluadu{csuansuyuu oukuueN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LUuUNhSUL U4sShyuGNh 6NLAGNUUL CUUGH 463 528,8 463 528,8 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Spwluwnpunuwihb thonglbtph dGrpptindwl dwiuubn 71400,0 71 400,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj wywinhybkiph dGrppbpdwl dwiuubkn 392 128,8 392 128,8 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsulL sPULUDGNSLENh AONY SUuutN 780 937,5 780 937,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd

Lwuwhwwy Gepphl tnpwbudbnpunbbn 780 937,5 780 937,5 0,0 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vNrNantuLENh culuueN 0,0 0,0 40 400,0 40 400,0 0,0 0,0 0,0 0,0 0,0
JunruyudnMniy <Uuusc yurniue 514 080,0 514 080,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd

Lbippht Juwnywydnpnid” hwlwé dwpnidp 514 080,0 514 080,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd

Shiwbuwywb YuwaliwybnpwnipntaGeph 514 080,0 514 080,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0




